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Note :

1. This question paper has 100 questions. Each question carries 2 marks.

2. Read carefully instructions regarding method of answering questions given on the last
page and indicate your answers on the Answer-Sheet provided.

3. Use of Any type of calculator or log table and Mobile Phone is prohibited.

CGP-14-01A Page No. 3 Set-B



O O A

1. 2001 i e & 2011 H Tefag TA |
s o § gfe g
(a) 25
(b) 30
(c) 35
(d) 4
45

o 1, €1 TaT SUTEAE S S A
3 st 2012-13 & g werfae™ &
T ) wikveyor fem T Y

TE. FTHEE W, TP,
l}ayaﬂaag{

3. wEIg o i AR ?
) WA R
(b) 9= TR
(c) WA s
(d) wrefa e
(e) i HfeX

4, mﬂwﬁ;ﬁa& 0012-13 # Ty @it &
'mem?

-{
C/ (a) 33,495 @ .

I\Q\

In comparison to 2001, the increase in

population density in 2011 in
Chhattisgarh is

(a) 25
(b) 30
(c) 35
(d) 40
(e) 45
Which college students got training

under Pt. Deen Dayal Upadhyay Skill
Development Yojana in 2012 - 13 7

(a) Govt. Kaktiya P.G. College,
Jagdalpur

(b) Govt. J.Y. Chhattisgarh College,
Raipur

(c) Govt. N.E.S. College, Jashpur

(d) Govt. V.Y.T. College, Durg

(e) Govt. Digvijay  College,
Rajnandgaon

What is Bahadur Kalarin Ki Machi from

the following ?

(a) Ancient Monument

(b) Ancient Township

(c) Ancient Chouliry

(d) Ancient Pond

(e) Ancient Temple

What was the production value of

minor minerals in the year 2012 - 13
in Chhattisgarh ?

(a) Rs. 33,495 Lakh

(b) 43,904 7€ %. (b) Rs. 43,904 Lakh

(c) 27,897 @@ %. (c) Rs. 27,897 Lakh

(d) 35,295 @@ ®. (d) Rs. 35,295 Lakh

(e) 30,275 @ %. (e) Rs. 30,275 Lakh
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5. AR IR 3 FoRe 371 1 Smwor § 7 5.

(a) &elis

(b) Tt

(c) Feht

(d) T

ey T

6. TY WU 2007 ¥ NFER BTG 6.

T H YT S e e 2
(e 3 )
(a) 31, T, Fesisa, st -aaw
Y T, A, s -aw e, oy
(c) Fuasfa, s -aeia], T, &
(d) SR -werita, Faesit, a1, M
(e) R -Tahfi, Suasha, T,

7. T8 TRORE SHEE Seia 3 T ST T k.

TR IR AR ?
(a) et
(b)
LIS
(d) e
(e) deft

8. YATTE HIgel o Y Tewdi hl W wieft & 8.

(a) Faq
(b) STefige
(c) St

Ad) wifeara
(e) gl

Nangmori is an ornament of which part
of the body ?

(a) Wrist

(b) Neck

(c) Finger

(d) Nose

(e) Arms

According to Cattle Census in

Chhattisgarh State correct order of no.
of Cattle is (in increasing order)

(@) Bull, Cow, Buffalo species, Goats
(b) Cow, Bull, Goats, Buffalo species
(c) Buffalo species, Goats, Cow, Bull
(d) Goats, Buffalo species, Bull, Cow
(e) Goats, Buffalo species, Cow, Bull
In which popular Chhattisgarhi

folksong, the name of Ganga appears
frequently ?

(@) Bhojali

(b) Jawara

(c) Sohar

(d) Sua

(e) Panthi

The chiet of the female member of the
Youth dormitory Ghotul is
(a) Kewra

(b) Baliphool

(c) Belosa

(d) Motiyarin

(e) Turi
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9. TEA L ? 9. What is Lakhadi ?
(a) IS (a) A insect
(b) & (b) Number
v@/@w (c) A Pulse
(d) =T == (d) Lakh bangle
() I8 (e) Tree
10, TS g T A HeE SR ? 10. ::ne I2;;1:;::‘13dm?onth Goncha Festival is
(@) ¥ ‘ (a) Jyestha
: vﬂ( TS (b) Ashadh
(c) A=A () Shrawan
(d) sTR9R (d) Bhadrapad
(e) SFTe (e) Agahan
11, o7 oveh @i reem A o1 ? 11. Whose name called Ata Ali Khan ?
(\ (a) 1A BIA (a) Abul Fajal
GIEESEE (b) Abul Faiji
(c) eretd (c) Todarmal
(d) e @i (d) Adam Khan
@) wH @ =5 T (e) None of these
12. ekl § gAE I 9YRd a9 § JUH §R 12. Supreme Court of Kolkata started in
forg rturfgy g sHeh 8 ot ? India in which Act introduced it ?
(a) foca sfean we (a) Pitts India Act
(b) 1909 =1 AfeHIH (b) 1909 Act
! (c) 1919 i rffem (c) 1919 Act
7 (d) 1858 % i (d) 1858 Act
e THE IR T (e) None of these
13. yerfeat g 8 13. Mahadeo mountains are the part of
a) Hagel (a) Satpura
(b) farem (b) Vindhya
(c) fgert =me (c) Western Ghat
(d) (d) Kaimur
(e) 378 ¥ g TR (e) None of these
CGP-14-01A Page No. 6 Set-B




0 00
14, ‘SERUOT Fet @ o R ? 3

et )
(c) gista
(d) SfSter

(e) &4 W &g e
15. 9RG H 10 @@ Ud HARH SHEEIT 916l

TR T R =

(a) 50 é)‘(/f(

@ (b) 60
(c) 100

16. eleme ¥ a¥ 2012-13 § gegef e
FEC 1 QBT ToheT o1 7

| (a) 199 &R =W
(b) 377 IR T

Jg%aegsaﬂ%aém

(d) 855 &SN BHRW
(e) 585 TN BFew

17. T & T34 & o€ & 076 2012 a5

14.

15.

16.

y 78

‘Jawahar Tunnel’ passes through which
place ?

(a) Pir Panjal

(b) Banihal

(c) Burjila

(d) Jojila

(e) None of these

Number of cities in India having
population 10 lac and above

(a) 50

(b) 60

(c) 100

(d) 80

(e) None of these

What was the area under all

Horticulture crops in Chhattisgarh in the
year 2012—-13 ?

(@) 199 thousand hectares
(b) 377 thousand hectares
(c) 689 thousand hectares
(d) 855 thousand hectares

(e) 585 thousand hectares

What was the total number of micro

ehaTe # e & T @Y @ f and srnall industries set up in
: Chhattisgarh upto March 2012 since
e ferat off ? 7
- formation of new State ?
(@) 5856 (a) 5856
(&) 11027 (b) 11027
(c) 9426 (c) 9426
(d) 14314 (d) 14314
{87 12035+ () 12035
CGP-14-01A Page No. 7 Set-B
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18, foemag e # fret worei w afrenfies &
werrfud fohg e E |

1. fefirg!
2. fawu

3. IFhIHTET
4, Y

Gﬁmﬁﬁm:
(@) 1,23 3
by T 2

(c) 2t 4

(d) 21E 3

(e) 1,2, 33N 4

19. SHigTe % IAiemies Iam Hifg 2012-17
¥ a1 TEg 98 78 2 7

(a) sty fosha o # W -qeamd Seerd
R FH 50%, 18 aui I Ay T

TV R PTEHE H g2 - 10 99 H
afy =g
© g yerdge - 1099 7%

(d) oSl Yo ® g2 - qfd, 9em, S
TS T 100 % &2

(e) T Hafta st 3 &7 fosea i
Trreht wfdgfd, gsft feer =1 stferra
150 % % 18 991 7 Aforehay

20. TAWE & HHY TEF e AT & 7

(a) Sed wETE Ty
TgHTS T et

(c) A& T WY

(d) STEIY TETE 9T

(e) 3R STt

18. Industrial Areas are established at
following places in Bilaspur District.

1. Sirgitti
2. Tifra
3. Chakkarbhata
4. Koni
Select the correct answer :
(@) 1,2and 3
(b) 1and 2
(c) 2and 4
(d) 2and 3 -
(e) 1,2,3and 4
19. Which provision is not correct in

Automotive Industrial Policy 2012 —-17
of Chhattisgarh ?

(a) Relief in Central Sales Tax—50 %
of the prevalent rate at that time
upto 18 years

(b) Relief in Entry Tax Payment — for
the period of 10 years

(c) Relief in Electricity tariff — upto
10 years

(d) Relief in Registration charge —
100 % on land, building, shed

(e) Relief in VAT and Central
SalesTax 150 % maximum on
fixed capital investment, up to
maximum period of 18 years

20. Which writer is a Meteric Poet
(Chhand Shastri) from Chhattisgarh ?
(a) Baldev Prasad Mishra
(b) Padumlal Punnalal Bakshi
(c) Madhav Rao Sapre
(d) Jagannath Prasad Bhanu
(e) Thakur Chhedilal

CGP-14-01A
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21. i ¥ Fe 3 & 9 T A Fref
FATE ?
2y Tt Horera
(b) T s
() Trord sfer =T $feam
(d) FrsHT-3TRmT
(e) T & = T

22. fava @ oo frafa  vra =1 femnad 2013

o 1 off ? @

(a) 1.8 yfcera
Y 1.7 wfasra
(c) 1.9 ufdsm
(d) 2.0 yfasa
(e) 0.7 yfawra

23. 9§ 2001 ¥ 2012 &1 arafr & wyRa &
TaEE R g R R F o ?

e @
(c) g
(d) =g

(e) T=m

24. ‘T-Miae’ % EAHR R

(@

21

22.

23.

24,

In India, which one among the following
formulates fiscal policy ?

(a) Ministry of Finance

(b) Finance Commission
(c) Reserve Bank of India
(d) Planning Commission

(e) None of these

What was the share of India in total
world’s exports in the year 2013 ?

(a) 1.8 percent

(b) 1.7 percent

(c) 1.9 percent

(d) 2.0 percent

(e) 0.7 percent

What was the rank of growth rate of
service sector of India in world during
the period 2001 to 2012 ?

(a) First
(b) Second
(c) Third
(d) Fourth
(e) Fifth

Who wrote ‘Rag-Govind’ ?

(a) Meerabai

(b) &R (b) Narahari
() qrE™ (c) Surdas
(d) wwE™ (d) Raskhan
(e) 3 & i3 7 (€) None of these
-~14-01A Page No. 9 Set-B
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25, FAdAFRTN AN qEH EU AT 7
(a) e
(b) TEw=
(c) TafeR
(d) TETH
Je)/sﬁ@rﬁéqﬁ

26, iR dRee G gk iR

() 13 4 Geite—a) TS

(ii) 18 @i @

(i) 39T ¥

d) Tegafer, STt
iR i
TaEEE] &
TS T A
&l &1 ST Wahd

(a) (b) () (d)

(@ (i) (iv) @ (i)

(b) (iv) (i) @@ 0

(c) (i) (ii) @ (v

@i (iv) (i) (i)
Me) iy Gy (i) (iv)
27. dHfgu & faifea & @ forg g™ &
I AT TEg, R T ST S H
AREFRE ?

@3%@31
e 2

T 3
%{aqa%éa4
(e) ¥T=a< 5

25. Which of these is an another name of
Buddha ?
(a) Parth
(b) Prachhanna
(c) Mihir
(d) Gudakesh
(e) None of these

26. Match the following Constitutional
Amendments.

(i) 13" Amendment (a) Nagaland
(i) 18t Amendment (b) Anti-detection
law

(iii) 39" Amendment (c) Redefined
state

(iv) 52"d Amendment (d) The election
of President,
Vice President,
Speaker and
Prime Minister
can not be
challenged

@ ® () (d
(@ @) (v (M) (i)
(o) (v) (i) @) ()
(c) (i) (ii) @ (v)
@ @ (iv) (i) (i)
(e) () (i) () ()
27. Indian Parliament has the power to

create a new State under which of the
following Constitutional Provisions ?

(a) Article 1
(b) Article 2
(c) Article 3
(d) Article 4
(e) Article 5

CGP-14-01A
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29, Freferfian # ¥ Fe TAR B WA

{0 0
28. i w1 # Tl % vl w1 gif

EIE 1
s gfafrfoe
(i) g w{L2) (a) 48
(i) TfEETg 39 (b) 11
(i) mwrg L6 () 25
(v) sxfeme- /1 (d) 42.

(v) afeem st G )-(e) 39

@ ® (© @ (e
@ O @) v © i
0 V) (V). @) @ i)
© @y v i) () v
) (i (v Q) e (i
@ (i) () @) )

v 2 7

(i) W=y i FrfE
(ii) Torerarss =1 sTofedl Wit amow ST
(iii) Toréraer =1 Qepem TET

(iv) &HT 9 T

(v) Eger arferee it erRgemr s
(vi) HHE I Hexr A

(vii) =maefteri <t frgfe

(@ ) (i)  (v)

® )  © iy
© (" ()  (vidy
@ ) v i
Jey i (i i

28. Match the representation of States in

Lok Sabha :
State Representation
() Andhra Pradesh  (a) 48
(i) Tamil Nadu (b) 11
(iii) Maharashtra (€} 25
-(iv) Chhattisgarh (d) 42
(v) West Bengal (e) 39

@ b () d (e

@ O @) (@) (v (i

() v (v) (i) @) (i)

© @) (@v) @) @0 (v

(@ () vy @O & (i)

(@ (i) (v) () v @)

29. Which of the following is the discretionary
powers of President ?

() Appointment of Council of Ministers «,

(if) To return the bill with objections «—

(ili) To detain the bill

(iv) To pardon

(v) To summon for joint session
(vi) To message the parliament
(vii) Appointment of judges »
(@) (i) (i) (iv)

O @ W i)y
() (i) (vi) (vii)»
(d (i (v (vi)v

(e (i) (i) (v

CGP-14-01A
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30. qwifRd weAl & o A wd g ?
(i) v i Resm g v
(i) e ferfiaa fou sima €
(ili) T T B G E
(iv) T e T 98 S W ©
(v) ST T &Y hl ST Hehell © wb
(vi) IR R et = e @ R
(@ () (i)
wa‘(iy (iiiy”
(€ (V) (vi)
@ Gi) W)
) (i) (i)
31. wdame o wi e i 7y # faum
BT § gfquer AaT e o ?
(a) HeE=s FHl
A% TR 9
(c) ey <o wR
(d) TS PR Td
(e) Torz =™

32, weaTe F i wiEEl H 3k fvw &
T gate i |

() FTTFER () FH
(i) s amE  (b) Tomm R
BEIEED
(iii}) TS gUId (c) WA

(iv) goHTEd FTaTE  (d) giEEd

(v) Y ST UV () S W
@ ® (@€ @@ (@

@ @ (v) (i) (v) (i)

(), (iiy (v (@) (v) (i)
@ v 0 i) (v)

@ v @ i)y @) (i)

e (v) () (Gi) () (V)

30. Whatis correct about starred questions ?
(i) Answer is given oral
(i) Answer is given in written
(iii) Supplementary questions can be
asked

(iv) Supplementary questions can not
be asked

(v) May be discussed on answer
(vi) Speaker controls on answer

(@) (i) (iv)
(o) () (i)
© v (V)
(d) (i) (V)
(e) () (v

31. Who was the opposition leader in
Legislative Assembly during the
Congress Govt. in Chhattisgarh ?

(a) Mahendra Karma
(b) Nand Kumar Sai
(c) Vishnu Dev Sai
(d) Raj Kumar Bhagat
(e) Ravindra Chaubey

32. Match the Cabinet Ministers with their
departments.

(i) Ajay Chandrakar (a) Labour

(i) Amar Agrawal (b) Science and
Technology

(iii) Rajesh Munat  (c) Tourism

(iv) Brij Mohan

Agrawal (d) Transport
(v) Prem Prakash
Pandey (e) Water
Resources

@@ ® (@© @ (e
@ O (v @) (i
@ @) ® O @ @
© @) w 0O @) ()
@ v O @) v (D)
e (v O @) @@ v

CGP-14-01A
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33. Ffeiiad 4 @ fhw &% & anars S 998

33.

Which of the following region does not

1 e ? have extent of Dharwar rocks ?
(a) Bhanupratapapur
a) ATgIdIIL
#) (b) Dantewada
(B} T (c) Kawardha
(c) el (d) Koriya
(d) wifET (e) Balrampur
il . _/e) TEER 34. Churri-Udaipur hill extends
(a) Korba — Balrampur
34. —aazfg{ ygTfedi o1 faeam 8
Qﬂ (b) Korba — Raigarh
IS (c) Balrampur — Surajpur
\/Lbﬁﬁlﬁn TaTe (d) Bilaspur — Kawardha
(C) ST ~ YL (e) Korba — Koriya
(d) feretmagy - el 35. Tributary of Shivnath river is
(e) SRET - Fiftar (a) Jamuniya
(b) Borai
35. Remy 7 6t g 2 (c) Teswa
\)ﬂéﬁﬁlﬂ (d) Khorsi
(b) I3 (e) Kolhan
(c) g 36. Which of the following pair (Tribal
e revolt in Chhattisgarh and its leader)
(d) is not correctly matched ?
(e) FiceH (a) Paralkot
Revolt (1825) — Gendsingh
36. ﬁwﬁ@aﬁ@m@@@%ﬂm@ﬁmﬁm (b) Tarapur
s wa 3o o) gl @i & ? Revolt (1842) - Dalganjan
: ingh
(a) Werehle fa2ie (1825) - Tiefie Sing
; y (c) Meria
(b) TR e (1842) - wwiow féw Revolt (1842) - Hidma Manjhi
(c) Wi fase (1842) - feemt wish (d) Koi Revolt
; 1859 — Gopinath
%13 fasie (1859) - T Pash 3
- ) (e) Bastar
(e) F&H f95E (1910) - Tk Revolt (1910) — Gundadhur
CGP-14-01A Page No. 13 Set-B
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37. wETe TS Ardal H i shi 4 37. What is the classification system of

e g 7

(a) 22EE

OREEEISERCII

38.

39, T H TR B &1 =t e e 7 39.
(a) a9 1951 #
(b) =¥ 1956 &
(c) % 1961 #

Jd)/ahgs?ﬁ

(e) ¥ 1971 #
40. femwr 2011 ® seiTe ® el A @
et oft 7
(a) 27
(b) 16
18
(d) 22

40.

(e) 26

Chhattisgarh State Civil Service ?

(a) Single system

(b) Two fold system

(c) Three fold system

(d) Four fold system

(e) Departmentwise separate system

Who is the Administrative Head of
Chhattisgarh Rural Development

- Department ?

(a) Vikas Ayukta (Commissioner)

(b) Chief Executive Officer

(c) Deputy Development Commissioner
(d) Chief Secretary

(e) Additional Secretary -

In which year Raipur got a status of
Municipal Corporation ?

(@) Inyear 1951

(b) Inyear 1956

(c) Inyear 1961

(d) Inyear 1967

(e) Inyear 1971

In December 2011, what was the
number of district in Chhattisgarh ?

(a) 27
(b) 16
(c) 18
(d) 22
(e) 26

CGP-14-01A Page No. 14
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41. gl -1 (=i SIETE & TSE) 41. Match List — 1 (Dynasties of ancient
et - 2 (3re) @ gafera A | Chhattisgarh) with List — 2 (Rulers)
et - 1 gt - 2 List - 1 List—2
(a) 9t (1) diaea (a) Nala (1) Tiverdeva
(b) TREY{™ (2) fre= (b) Sharabhpuriya (2) Shivagupta
(c) g (3) Theani (c) Pandu (3) Skandavarma
(d) ™ (4) gETS (d) ?;))ma N )(4) (SdL;khdevraj
@@ (® (c) (d (@) 2 5 3 o4
(a) 2 3 4 1 ©) 3 " 1 5
b) 3 4 g 2 T JF 2
i, 8 . ] 4 (d 3 1 2 4
(d) 3 1 24 @ 4 5 1 5
\/(27/4 3 i o

42. Which of the following branch of

42. SR UsE i FefoRad § € frg s Kalchuri dynasty established its
Y oheTe § TeETE T i 5 ? political power in Chhattisgarh ?
Jﬂ)é@ ' (a) Lahuri ;

: (b) Behuri
(b) Eh (©) Tripuri
(c) Byl (d) Kalinga
(d) =fem (e) Sharabhpuriya
(?) R 43. Which of the following statement is true
: o about the Maratha administration in
43. e H AT HeEH < Hey # frfaa Chhattisgarh ?
A 8 P FHI T R 7 (@) Marathas continued the
(a) w3 3 FAgRE 6 yerE R s administrative system of Kalchuris
1 ST T (b) Marathas had administrative
(b) TSI &1 BHETE & WiEE] 85 W control over the Khalsa region of
T S %!T Chhattisgarh
BT Y SIS T SEE T S (c) Marathas introduced the decennial
© Bt = PO T settlement of land revenue
X 5 (d) Marathas handed over the
(@ .ﬁ e i ' I administration of Chhattisgarh to
TSI 1 4 fean Kalchuri Kings
(e) WIS 3 Tefterte # FoTIRT g (e) Marathas introduced ljaradari
SWE system in Chhattisgarh

CGP-14-01A Page No. 15 Set-B
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44, Trfofea & @ fre o sdETe &I
T ST ST G S T ¢

(a) 1861
i
(c) 1863
(d) 1864
(e) 1865

45 PreRifaa d @ feew 19204 o .o

44. In which of the following year
Chhattisgarh was made administrative
division of the central province ?

(a) 1861
(b) 1862
(c) 1863
(d) 1864
(e) 1865

3 st ) AR o5 45. Who of the following led the historic
e e 7 ' strike of workers of B.N.C. Mill,
' Rajnandgaon in 1920 ?
(a) 9.9 e (a) Pt. Sundarlal Sharma
" AT AR e (b) Thakur Pyarelal Singh
(c) ST TR (c) Krantikumar Bharatiya
() St BT (d) Barrister Chhedilal
() FIIEH (e) Qutubuddin
46. @ el v T & 7 46. Which is not gaseous cycle ?
@ Ny (@) Ny
(b) O, (b) O,
(c) A (c) Carbon
H, (d) Hy
(e) 70 & FE TR (e) None of these
47. 3 Sham S AR 7 47. Which is not fossil fuel ?
(a) (a) Coal
e _b) Wood
(c) I5 (c) Diesel
(d) ‘?1'9"3?‘ (d) Petrol
(e) T 3+ 78 (e) None of these
CGP -14-01A
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48. Trger qoUETE Sg9 & w9 H W AR 48. Which is not used as Atomic fuel ?
e ? (a) Uranium
(a) T (b) Thorium
(b) enfarm (c) Plutonium
(€ (d) Lead
e (e) None of these
(e) T @ =Ig 7l e . .
49. Which is used in Dry Washing ?
49. Y YT § ToREeRT S S ? (a) Petrol
(a) Y (b) Benzene
(b) == (c) Alcohol
(c) SIohiEd (d) All the above
ot (e) None of these
() ¥ & s 7 50. Which one is responsible for Ozone
50. 3 5 3 e i e @ 7 e
(a) CO, Ez; (3382
(b) SO, .
© O, (c) O,
M CFC (d) zFC i
@ . (e) None of these
51. A solution turns red litmus blue. The pH
51, U e we fenw = e =3 R, of solution is |
oo =1 pH (@) 7
(@ 7 (b) 1
(b) 1 () 5
(c) 5 (d) 6.5
(d) 6.5 (e) None of the above
4 9 =g @l |
52. The human eye forms the image of an
52. T i o1 Tt awg o wfeiferat s © object at its
(a) TR W (a) Cornea
(b) sIafE =W (b) Iris
() ga__?fﬁur (c) Pupil
| (d) Retina
(e) I § | whIE AL (e) None of the above
CGP-14-01A Page No. 17 Set-B
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53. e @ S iy e SRATH (WH1e 8REH) 53.
27
(a) sgfer
(b) PRI
(c) eI
. et
(e) 3w # § 1S T

54 e P@ e S AW R OEmaEw | O
I TR o
(a) Torera AR
i
(cy/3ediF dr
(d) WISl aR
() 3uFd # @ g el

55. afiM % e i a P s e ?
(a) 3oi =: T W@ ©: 9 §9 g §
(b) 3EH aE frnT Td S: UK 99 8 ©

A 5 s o e g 9 8
(d) zEd o T of i urd sy 9§
(e) S # & ¢ el

55.

56. ORE &% WUEER % w9 9§ off W 9 A

gy 56.
b%:)fz?ué 2014 &l

(b) 12 5 2014 =1
(c) 29 W5 2014 &Y
(d) 1557 2014 =1
() S & 1S &

Which of the following is a plant
hormone ?

(@) Insulin
(b) Thyroxin
(c) Oestrogen
(d) Cytokinin

(e) None of the above

A wire with black insulation during
electric supply is

(2) Live wire

(b) Earth wire

(c) Neutral wire

(d) Fuse wire

(e) None of the above

For benzene which of the following
statement is true ?

(a) It has six sigma and six pi bonds
(b) Ithas twelve sigma and six pi bonds

(c) It has twelve sigma and three
pi bonds

(d) It has six sigma and three pi bonds

(e) None of the above

Sri Narendra Modi took oath as Prime
Minister of India on

(a) 26th May 2014
(b) 12th June 2014
(c) 29" May 2014
(d) 15" June 2014
(e) None of these
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57. ‘WS SH-99 IS AT i T
(a) 25 T 2014 #
(b) 26 3T 2014 #
(c) 27 2014 ®
%{;‘: 2014 #
(e) T @ FIg e

58. 102 af W fagm =ia" &1 SAESH
3/ 7 Sadt 2015 i 3T o1
(@) TIFR e &
(b) BARC H=i§ &
(c) NT Reeht &
Torvafaenem, gad &
(e) T T &g FE

59, WISHI-FEN % TUH W Afq-me @

3
%J;aaﬂzmsaﬁr

(b) 5 SFadr 2015
(c) 26 SHEl 2015
(d) 31 SHalt 2015 &
(e) T @ =g &l

60. 2014 &1 Wifes &1 Nad R T
anfersrm o fore firem 7

o7.

58.

59.

60.

“Pradhan Mantri Jan-Dhan Yojana”
was started on

(a) 25! August 2014
(b) 26 August 2014
(c) 27t August 2014
(d) 28! August 2014

(e) None of these

102t |Indian Science Congress
(3 — 7 Jan. 2015) was organised at

(a) TIFR Bengaluru

(b) BARC Mumbai

(c) I'T Delhi

(d) University of Mumbai, Mumbai
(e) None of these

‘NITI-Aayog’ has been formed replacing
Planning Commission on

(a) Jan. 1,2015
(b) Jan. 5, 2015
(c) Jan. 26, 2015
(d) Jan. 31,2015
(e) None of these

Nobel Prize for Physics for the year
2014 was given to which invention ?

() ¥t LED & ferg UN/ (a) Red LED
(b) & LED % fere \)"L (b) Green LED
(c) W= LED % forg (¢) White LED
(d) dism LED % g (d) Yellow LED
T | g T8 (e) None of these
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61. =@ g U 61. Hadis is
T (a) Islamic Law
(b) SFaEE T (b) Settlement Law
(¢) Headd FId & (c) Tax of Sultanate period
(d) FEsER (d) Mansabdar
(e) ¥ ¥ I el (e) None of these
62. 375d e % HEIUS & 62. The Founder of Adwait Philosophy is
M ST (a) Shankaracharya
(b) TSR (b) Ramanujacharya
(c) AeaTE (c) Madhvacharya
(d) HETHT 44 (d) Mahatma Buddha
() 3 | I3 g (e) None of these
63, =l SggXAl @ HEHd IE 1{5‘?‘7’ HeTd: I 63. The ‘Purush Sukia’ related to Varna
B i System is originally found in
(a) FAYEAE (a) Atharvaved ;
(b) wHaE (b) Samaved
e (©) Rigved
(d) wgegfa (d) Manusmriti
(e) ¥ | %13 T (€) None of these
64. ‘TR TRE ﬁ?ﬁ%&r H—TQ"IT F R ogr ? 64. ‘Kishan Garh’ school is famous for
(a) wfhaT (a) Temple Art
py Femen (b) Painting
(c) F& oeh (c) Martial Arts
(@) I@m (d) Sculpture
(e) ¥ § Flk Tl (e) None of these
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65. si@ ¥ o w1 B g feek = @
Thaffa et 2 ?

(a) gaeht
(b) ¥R
ey Tafernty i
- (d) st
(e) 3w H | i3 e

66. ‘v ¥ TR A E 7
(a) ST THTE
 STe g
() naa‘\tmﬁéa‘t
(d) <. Fe

(e) A1EE T &Y

67. oierTe H gghan fra =R @ wg 2 7
(a) S
(b)
ey anferaht
(d) afims
(e) T

68. 3IMFHMI-are fo Ffedt & grm & g
g7 3

Wy S—
(b) e - aran
(c) Rrammr - HEmeE
(d) SR - R
(e) WEMEr ~ 3T

65. The change of focal length of an eye
lense is caused by action of the

(@) Pupil
(b) Retina
(c) Ciliary muscles
(d) Iris
(e) None of the above
66. Who is the author of ‘Shyama
Swapna' ?
(a) Jaishankar Prasad
(b) Thakur Jagmohan Singh
(c) Mahavir Prasad Dwivedi
(d) Dr. Heeralal
(e) Madhav Rao Sapre
67. Turturiya is associated with which Rishi
(Ascentic) in Chhattisgarh ?
(a) Lomash
(b) Vishwamitra
(c) Valmiki
(d) Vashistha
(e) Agastya
68. Amerikapa-Tala is nearthe confluence
point of which rivers ?
(a) Shivnath — Maniyari
(b) Shivnath — Arapa
(c) Shivnath — Mahanadi
(d) Leelagar — Shivnath
(e) Mahanadi — Arapa
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69. TmrEel i # ¥ forad gl B 7
(a) WaA™ 9y
(o
(c) T 9y
(d) 7 i

(e) 3@ T

70. WS Mg fore eraEt o TR SaT @ 7
(a) 5=
(b) 7g
(c) s etk

oy

(e) T

71. WU Wi 1 3k SiehTe o 1ol gATd
g |
(a) 1999-2004

(i) = T\ (b) 1989-90&

(@ (b () (@ (e
@ @) @ (i) () ()
b) (v) (v) (i) () @)

@@ O @ o W
Mi) /@ 0w
@ @ O ) @ W

69.

70.

71.

Damakheda is associated with which
from the following ?

(a) Satnam Panth
(b) Kabir Panth

(c) Tera Panth

(d) Ruined Temple

(e) Excavation site

Bhadauni songs are sung on which
occasion ?

(@) Birth

(b) Death

(c) Harvesting
(d) Marriage

| (e) Thread ceremony

Match the Prime Ministers with their
tenure.

(i) Devegouda (a) 1999-2004
(i) Chandrashekhar (b) 1989 —90
(iii) Atal Bihari Bajpayee (¢) 1990 — 91
(iv) Indra Kumar Gujral (d) 1996 — 97
(v) Vishwanath Pratap (e) 1997 —98
Singh
@ @® () @« (e
@ @) ) (i) (v) (V)
() v) (v) () () ()
(© (i) . @ () (v (v)
@ @) v @ O (v
e () @ (i) ) (v
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72. 94 2012-13 H WA ol Hehel Ble] STerd &

off

\)(za)/so.1 T TeFet SR 3edTE
(b) 25.8 W¥Td Tahet BT IS I
(c) 22.3 gl Hehet Hie] 3T H
(d) 34.6 SfreTa Tehet BT IeUTE I
(e) 7 ¥ FIE 7

73. 99 2012 YIRd = "M (96 gahish 5
11\?1‘2{ ar1
(a) 0.387
(b) 0.454
(c) 0.416
0.554

(e) 578 & =13 el

74. Tr=fafaa @ @ sian Ruma G0 srisn
R 7 '
(a) HARTA S,
(b) 8.3,
() TH.HARZH.

Ly T STA,

(e) 370 & 513 T

75. WA H Hehel BS] IUE a8 2012-13 %

4.5 wfosra i ga § 99 2013-14 &

4.7 9TdeTd deh 9@ ToTEehT shror o1
(a) §aT &7 i 359 gfg
(b) Tmior &= &t 3= gfg
/(o) BT weh &9 s g W
il wh ey
(e) 9 § FIs e

72.

73.

74.

75.

In the year 2012-13, the Gross
Domestic Saving Rate was

(a) 30.1 percent of GDP

(b) 25.8 percent of GDP .

(c) 22.3 percent of GDP

(d) 34.6 percent of GDP

(e) None of these

In the year 2012, Human Development
Index value of India was

(a) 0.387
(b) 0.454
(c) 0.416
(d) 0.554
(e) None of these

Which of the following is not a anti-poverty
program ?

(a) R.L.E.G.P.

(b) L.R.D.P.

(¢) NNREE.P.

(d) M.RT.P.

(e) None of these

During 2013-14, India’s Gross

- Domestic Product grew to 4.7 percent

as compared to 4.5 percentin 2012-13.
This was due to ]
(a) High growth rate in service sector

(b) High growth rate in construction
sector

(c) High growth rate in agriculture and
allied sectors

(d) Allthe above are correct

(e) None of these
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76. TreafciRad e A @ v w0 (@R @

sﬂi)%ﬁaﬁ;m g fEae?
(a) , Ui, REdarmEv, gart

afsm, R, verl, Redameo
(c) FradarmEy, yad, Rrg, afsm
(d) g, ufem, e, FredEmmo
(e) ufsm, forgy, Radammw, samd

77, foefefad gt W T hifs |

1. SdETe 4 gum e s Y T
1965 &%

2. T T iy %7 femior 1966 # g |

3. W.A.MH. & fogy wa3 wien @
e frei | 2

4, G TegHiEm v fafies ame!
i T 1975 ° i 8|

|l I M

@ 1,2, 4982

(b) o 1vd 3w B

(C) sheict 2 TSl 4 WEI &
1,2,38d?

(€) el 1 W& 4 |t &

78. forahHT sienfier foeky s fa @

76.

In the following places which series
(South to North) of areas located near
Mahanandi ?

(a) Sirpur, Rajim, Shivrinarayan,

Palari

(b) Rajim, Sirpur, Palari,
Shivrinarayan

(c) Shivrinarayan, Palari, Sirpur,
Rajim

(d) Sirpur, Rajim, Palari,
Shivrinarayan

(e) Rajim, Sirpur, Shivrinarayan,
Palari

77. Think about the following statement.

1. First cement factory in
Chhattisgarh was established in
1965.

2. Construction of wagon repair shop
occurred in 1966.

3. Thermal plant of N.T.P.C. are in
Korba and Bilaspur Districts.

4, Bharat Aluminium Company
Limited Balco established in 1975.

Select the correct answer :
(a) 1,2, 4 are correct

(b) Only 1 and 3 are correct
(c) Only 2 and 4 are correct
(d) 1,2, 3 are correct

(e) Only 1 and 4 are correct

78. Birkoni Industrial Development Centre
(a) g is located in
(b) Fagf (a) Durg
(b) Kawardha
(€) TaR .
(c) Raipur
(d) (d) Baloda Bazar
HETEg (e) Mahasamund
CGP-14-01A Page No. 24 Set-B



| A R

79. Fefafaa § @ frg et & =01 weom &
Iedred HfoeR 8 7

(a) oy
(b) g
(c) TAR
(d) W=
WW
80. @ 2010-11 ¥ Y4 TR TN BATTE

! o Iuwfelr & forg ‘i oy qoemr
Y g T e ?

(a) 31e @ F Fore A Tl
(b) 3=u Ff R =

ﬁ@wﬁ%mmﬂwm
g T TTE Idmed

(d) @it yq@ wEl A IeaTesRal gy
e) N 1 AT wrerfiierar &

81, SNt fraordm e ?
(a) w0
(b) wmE

I o e
L ﬂéﬁm
(e) 37TEA

82. . WY =g Nelr oy A & fgm a4 7

79. Which of the following District has more
production of lime stone ?

(a) Bilaspur

(b) Durg

(c) Raipur

(d) Mahasamund

(e) Baloda Bazar

80. What was the achievement of
Chhattisgarh that honoured by
“Krishi Karman” prize by Govt. of India
in the year 2010 - 11 ?

(a) Presentation of separate annual
budget for Agriculture

(b) High Agriculture growth rate

(c) Record production of paddy by
successful implementation of
agricultural schemes

(d) Increase in productivity of all crops

(e) More priority given to agriculture

81. Jethauniis celebrated in which month ?
(a) Magh '
(b) Baishakh
(c) Falgun
(d) Kartik
(e) Agahan

82. Dr. Ramesh Chandra Mehrotra was a
scholar of which subject ?

) i o C (a) Biology
o o D 5 (b) Linguistics
() == W\ () Hindi
(d) TERA fogm (d) Chemistry
(e) a=fq (e) Philosophy
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83. =5 WNd JARAE § SUEE & Fate §
i e e w2 7
(a) Sgeme e
(b) =t e’
(c) 7t ¥t <
Sgeg FHd
(e) T & =g 7

84. TmFw fEM fSEeRM= oY TRER
TEIIF &
(a) B FEEIHR
Wt A=
(c) @i THH=
(d) W AEvSH=<
() Tt SATfoEaT=E
85. 2011 = SFUET % igER e e
I & A 7 7
(a) TSHTTE
(b) T

oy gt
bl

(e) we=gs
86. . Wifea o ‘HAITEA’ o STTER HRIHTEAH =

83. Whom of the below mentioned is not
included among the Navaratna of
Chhattisgarh in Clean India
Compaigne 7
(a) Babhruwahan Singh
(b) Harish Kedia

(c) Anuj Sharma
(d) Jaidev Baghel
(e) None of these

84. Who is the founder of Ramkrishna
Mission Vivekanand Ashram,
Narayanpur ?

(a) Swami Satyarupanand
(b) Swami Atmanand
(c) Swami Ramanand
(d) Swami Akhandanand
(e) Swami Jyotirupanand

85. According to Census 2011, in which
district literacy rate is more ?

(a) Rajnandgaon
(b) Raipur

(c) Durg

(d) Dhamtari

(e) Mahasamund

86. According to the ‘Arthashastra’ of
Koutilya the following courts existed in
the judicial system of Mouryan Age

yazen #f Fofafas =mes afca § 9 | 1) Dharmamahamatra
1) gHHEHT 2) gHwdm™ 2) Dharmasthiya
3) =IF 4) SHehae 3) Rajjuka
4) Kantakshodhana
TE I MY ¢
i Select the correct answer :
(@) 1@ 2
¢ (@) 1and 2
(b) ZT{ETS (b) 2and 3
() )@= 3 (c) 1and 3
2w 4 (d) 2 and 4
(e) 11d 4 (e) 1and 4
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87. <EH ST i yum Uearh Refifaa d @
S off ?
(a) s

(c) dreramETe

(d) g
(e) 7 & #iE 7

88. ¥l —1 (1857 % v 3 o) il et — 2
(37 wHRIEE) & gafod HifvT |
et -1 et -2
a) I&q @f 1) 134
b) Hiewll sfEHgTe  2) R
c) Hatids 3) I
d) THTETES 4) feoett

a
(@ 3

(b)
M

(d) 4
(e) 2

...s—;-(.).b.l\)ﬂ_

~ W = PO =2 T
W NN = b~

89. s Tt 3 foreg TreganfRel 3 Frfrfee
FriET oy Y

87. Which of the following was the first
capital of the Bahamani Kingdom 2

(a) Bidar

(b) Gulbarga

(c) Daulatabad
(d) Husainabad
(e) None of these

88. Match List — 1 (leaders of the revolt of
1857) with List — 2 (their areas of

operation)
List -1 List—-2
a) Bakht Khan 1) Awadh
b) Maulvi 2) Kanpur
Ahmadulla

c) Kunwar Singh 3) Arrah

d) Nanasahab 4) Delhi
a b c¢ d

@ 3 1 2 '3

)8 2 2 1

) 4 1 3 2

& 4 3. 4 2

(€ 2 4 A 3

89. The following programmes were
launched by the nationalist against the
partition of Bengal

1) Boycott
1) STEFTRe 2) wesh 2) Swadeshi
3) kS reroi 4) Trﬁfm e | 3) Non-co-operation
4) National education
ki ; : Select the correct answer :
@) 1’2@’,'3 (@) 1,2and 3
(B) 2, 3 4 (b) 2,3and 4
(c) 1,3 4 (c) 1,3and 4
aAdS 1, 2 4 (d) 1,2and 4
(e) 9 ° IS & (e) None of these
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90. fru <Tel T 3 St &1 e < off ? 90.
(a) Ters A
(b) Wieeh =e

) o v

L (d) Tor T
(€) T | 1§ &

o1, 9= o @ FET STEYT Tl ¥ UeTd § 7 1.
(a) WS
(b) AT
oy
(d) aeh
(e) et

92, TEy e IS W SHATG & TorT U 92.
TR (HEH 2015) T w5 § S T 7

(a) <. T fi

(b) e gm fore
(AC) ST FHAR

(d) arom e

(e) giel FAR

93. Behwe  um ¥ foer (arRimm) A R | 9%
ferea AwWe?

WA) T 160 ATETE
(L (b) T 260 HETR
| (c) T 290 WER

(d) ST 360 ATER
(e) T 390 HETE

In which Cholas king started Naval
Army ?

(a) Rajendra Chola
(b) Prantak Chola
(c) Rajaraja |

(d) Rajaraja ll

(e) None of these

Which one from the following
ornament is worn in neck ?

(a) Aiethi

(b) Nangmori
(c) Sutiya
(d) Tarki

(e) Kardhani

Who received National Award
(Feb. 2015) from Prime Minister on
renewable energy ?

(a) Dr. Raman Singh
(b) Subodh Kumar Singh

. (c) Aman Kumar

(d) Ajay Singh
(e) Sunil Kumar
In Chhattisgarh from paddy husk

(Biomass) how much electricity is
produced ?

(a) Approximate 160 megawatt
(b) Approximate 260 megawaitt
(c) Approximate 290 megawatt
(d) Approximate 360 megawatt
(e) Approximate 390 megawatt
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94. BEiwErTg ¥ TS @ | i @A
afErl 1 wfmre e gie faseh g
ESIGiE
(a) 30 gfe
(b) 35 f¥e
(ot
(d) 45 7
(e) 42 i

95. 2001-2011 % orafy d forg foet &
SHEE g wE @7
(a) =TS
(b) TR
(c) w&R
(d) iRt

W

96. WA ¥ fra e € 7
(a) 600
(b) 650
(c) 580
(d) 800
q Fp5 T8

97. WRA ¥ WA FfRTR F1 LYH hl T

94. How much unit electricity are given free
of cost to families living under Below
Poverty Line in Chhattisgarh ?

(a) 30 Units
(b) 35 Units
(c) 40 Units
(d) 45 Unifs
(e) 42 Units
95. During time duration 2001 — 2011

which district has less population
growth rate 7

(a) Dantewada
(b) Narayanpur
(c) Bastar
(d) Kanker
(e) Koriya

96. How many districts are in India ?
(a) 600
(b) 650
(c) 580
(d) 800
(e) None of these

97. In which place first Nuclear Power

FE g 7 Station has been established in India 7
(a) SeTaFHy (a) Kalpakkam
(b) = (b) Kota
A (c) Tarapur
(d) FTr (d) Narora
(e) 3 U IS e (e) None of these
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98. o o Ul 2 =it o 3fiea IeareT a9
2013-14 # o

%419% L
(b) 3059 Tt 7T
(c) 2602 ferett 7
(d) 770 ferett T8
(e) T A =18 &

99. e sy fems & o i  ?
(a) TR
REEEF
(c) FRIS WIR
(d) TSI T

(e) 378 ¥ =S 7

100. T T ohwg F e dadt=n g ?
(i) TR FEFE 6T e,
(i) 7% T Turft e ®
(iii) @@ o 7t o 1 Wepa
(iv) Y/, e T s g faifea
mi(L)
(v) 1/, e Torem w gR0 Fraifem o E X
(vi)srﬁ:aéia&su% 1, we= SEEd
awaE v
(Vi) 39 TSIUTE Te T UGG BT 8 ¥
(Vi) S8 HeEl o1 el 6 9 BT & o

@ o i) ® w-

(b) (i, (vi), " (vii)  (viii),”
l/(6) (i (i), (vi), (Vi) -

@ (i) (ys, (vi)  (viii)

O O ) @ o

98. InlIndia, per hectare average production |

of rice intfie year 2013-14 was
2419 kgs

(b) 3059 kgs

(c) 2602 kgs

(d) 770 kgs

(e) None of these

99. Which dam is not for irrigation ?

(a) Bhavani Sagar
(b) Shivsamudram
(c) Krishnaraj Sagar
(d) Bhakra Nangal
(e) None of these ‘

100. What is correct about State Legislative
Council ?

(i) listenure is 6 years
(i) Itis a permanent house
(iii) 1t can not be dissolved

(iv) /s members are elected by local
institutions

(v) /4 members are elected by
legislative assembly

(vi) On each two years 1/:3 members
are retired

(vii) Deputy Governor is the Chairman
of House

(viii) The tenure of its members is 6
years

@ @O (i) (v

() (i)  (vi)  (vii) (viil)
© (i) (i)  (vi) (viii
(d) (i) v) (vi)  (viii)

@ 0 @) (v (vi)
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